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Part-A/SR1-3

What are the use of box-plot? - [10x2=20]
dfeg-@e aan 394 82
Define frequency distribution.
TRERAT e B IRAINT S|
Find the coefficient of variation of first ten natural numbers.
oW 10 Wil Tt @1 favor [uis s SR |
Give two examples of ratio scale.
RS 7S & & IR AR
Write the normal equations for fitting of second degree curve.
fecita @i o & fore s whe<o @ fifkau)
Define the concept of attributes. ; —
Tl & fgia & wRenfya s
Define ordinal scale.
B AIGE B IRHIMN Diferd|
Show that correlation coefficient is the gwmic mean of the two regression coefficients.
feragd) & wewdy orie AR FAIHFV QUi B JUIRT AET Bt 2

The following data have beeen arranged in ascending order.

8,11, 13, 15, X+2, X+4, 30, 32, 35, 41. If median of the data is 24, Find X.
fd o sriwel @ agd HH # afkd far T &l )
811,13, 15, X+2, X+4, 30,32, 35, 41 TR 31wl O Witz 24 R X WA i ol

If the value of f3, and p, is 5, 80 respectively, then find the variance. i i

g p, AR p, T TF BHL: 5, 80 & A FHRU 7T DS



Part-B/AIAT-4

Unit-15®18-1
Define primary, secondary, discrete and continuous data with ex:
SeTe=oT & W i, R, sreaa ik T sieg! o R
Wh#t do you understand by tabulation? Explain different parts of a |
AROEROT & ST T A &2 U A Afere & fafit w3

OR/3r@l

What are advantages of diagrammatic representation pf ata? De

Foig &R Wam%mm%?
Unit-11

What is meant by dispersion? What are the
variance is independent of change of origi

e & 3 T 2 foae 7 3 B
I <Ear & g W W A

(a) , Derive formula for the

(b)




OR/3rrn
(@) Calculate the Yule's coeflicient of association between aftributes A and B given that- [649]
' O
(4B) = 50,(48) = 79,(afl) = 782, () = 89 o

T AR B fore g @ e ot AR, Rar w2 -
(AB) = 50,(4B) =79, (ap) = 782, (xB) =89

(®)  For a consistent data relating to three attributes A, B and C. Prove that-
(AC)+(BC)-(4B) < (C)
aN W A, B 3R C ¥ wiftr srieel 5 fore Rig aRe -
(AC)+(BC)~(4B) < (C)

Unit-1IVZ®R-1V g
5.  Derivean expression for Spearman's rank correlation coefficient What do you do in caseoﬁl@ ,
peated ranks, < o S UE
Ny OR /3w e -

What do you mean by correlation coefficients? Show that it is unaffected by tl?s cha
and scale. Find the correlation coefficient for the data.

X: 2 w3 4 5
Y: 5 4 3 2 o
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N 2 3 4

Y 5 4 3
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